3 Digit Division

Name: Score:

Calculate the quotient

150+ 6 = 240 + 8 =
220+4 = 110+ 2=

140 +5 = 180+5= 312+ 8=
210 +3 = 198 +9 = 255 +3 =
180+2= 400+ 5= 390 -6 =
120+ 6 = 150+5= 108 -4 =
3208 = 630 +9 = 160 +5=
196 + 2 = 455 + 5 = 100 + 4 =
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150+ 6 =

220+ 4 =

140+ 5 =

210+ 3 =

180+ 2 =

120+ 6 =

320+ 8 =

196 + 2 =

25

55

28

70

90

20

40

98

Answers

Calculate the quotient

240 -8 = 30
110+2= 55
180+5= 36
198 +9= 22
400+5= 80
150+5= 30
630+9= 70
455 +5= 91
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312 +8 =

255+3 =

390+ 6=

108 + 4 =

160+ 5=

100 +4 =

39

85

65

27

32

25



